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	LO 
	To calculate ratio and use ratio to solve part-part-whole questions
	
	

	Good
	I can draw a bar model to show a ratio.
	
	

	Better
	I can use a bar model to find the answer to part-part-whole questions using ratio.
	
	

	Best
	I can use ratio to scale up and down and to find missing parts.
	
	

	I worked independently
	I worked with a partner
	I worked with an adult.



Ratios are used all the time by people working. Builders, engineers, bakers, brewers, carpenters, plumbers, chefs and many other people will use a ratio to know how much of something they need to use. 
Ratios can be ‘scaled up.’ This is a bit like finding equivalent fractions – whatever you do to one side, you have to do exactly the same to the other side (multiplication and division only).
[bookmark: _GoBack]For example, a painter knows that he can make orange paint using yellow and red at a ratio of 2 parts red to 3 parts yellow (2:3). If he does exactly the same to each side, he can make sure he always ends up with exactly the same shade of orange. 
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Try this problem, then work your way through one of the challenge sheets. There are three to choose from, so aim for the one you feel best suits your level. The answers are on the back, but don’t look at them until you have finished and you are going through it with your parents. For each of these questions, it might help you to draw diagrams of it, or use counters. Good luck.
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BONUS CHALLENGES
If you are still keen and eager to carry on after you have finished the challenge sheet, you can try these bonus challenges. 
CHALLENGE 1
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CHALLENGE 2
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CHALLENGE 3
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David has two packets of sweets.
In the frst packet, for every one
strawberry sweets there are two orange

sweets.

In the second packet, for every three
orange sweets there are two strawberry.

Each packet contains 15 sweets in total.

Which packet has more strawberry
sweets and by how many?
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Danielle is making some necklaces to
sell For every one pink bead, she uses
three purple beads.

Each necklace has 32 beads in total.

The cost of the plain necklace is £280
The cost of a pink bead is 72 p
The cost of a purple bead is 65 p

How much does it cost to make one
necklace?
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So, if he uses 2litres of red paint, he will need to use 3litres of
yellow paint and he will end up with Slitres of orange paint.
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If he has 8 litres of red paint, he can work out how much yellow
paint he needs to make the same shade of orange like this.

. |
2 " 3 = Slitres altogether.
x4 x4 x4

= 20litres altogether
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And, if he knows he needs a certain amount of paint
altogether, he can work backwards to find out how
much of each colour to mix together.

If he needs 80litres he can do this.

= Slitres altogether.

x16 T =16

= 80litres altogether

Start here.
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A farmer plants some crops in a field.
For every 12 carrots he plants 5 potatoes.

He plants 60 carrots in total
How many potatoes did he plant?
How many vegetables did he plant in total?
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Beth mixes 2 parts of red paint with 3 parts blue paint to
make purple paint

If she uses 12 parts blue paint, how much red paint did she
use?
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Emily has a packet of sweets.
For every 3 red sweets there are 5 purple }.’
Sweets.
Ifthere are 32 sweets in the packet n total,

how many of each colour are there? You

can use a bar model to help you.




